Garland Independent School District

GISD Sourcing Bid Tab Report

Bid#:	31802	Title: 17	-18
			ated and
		Frozen F	oods
Quote#	Vendor / Supplier	EPCNT	Discoun
494070	*ADVANCE FOOD CO INC	Yes	0
494030	*ADVANCE SALES & MARKETING INC *AEM ECK ACQUISITION INC DBA ARMOUR	No	0% 0
	*BRAUN BEEF CO INC	Yes Yes	N/A
	BRIDGFORD MARKETING COMPANY	Yes	N/A
	BUENA VISTA FOOD PRODUCTS	YES	N/A
493981	*C H GUENTHER & SON INC DBA PIONEER FLOUR	Yes	Delivere
40.4000	MILLS	YES	d price
	*CAL-TEX CITRUS JUICE LLP CHEFS CORNER FOODS	Yes	N/A 1 pallet
404010		100	minimu
	*CHURCHFIELD TRADING CO.	No	1/2%
			discoun
	CONAGRA FOODS INC	No	N/A
494062	DE WAFELBAKKERS LLC	Yes	0%
	DEL REAL LLC DBA DEL REAL FOODS	Yes Yes	0% 10%
493998	DOUBLE B FOODS	res	10% discoun
494114	*ES FOODS	Yes	0
	*FIT FOODZ INC	Yes	15% on
			orders
494081	FOSTER POULTRY FARMS DBA FOSTER FARMS	Yes	0%
	*GENERAL MILLS	No	Minimu
494018	GOOD SOURCE SOLUTIONS DBA TOOLS FOR GOODMAN FOOD PRODUCTS DBA DON LEE	ves YES	10% 5.000
493903	FARMS	TES	5,000 lbs.
404070	GREGORY PACKAGING INC DBA SUNCUP	Yes	N/A
494078	*HARVEST HILL BEVERAGE COMPANY	Yes	0
493982	HEART OF TEXAS BISCUITS INC	Yes	0%
494091	INTEGRATED FOOD SERVICE	Yes	0%
			catalog/
	*J AND J SNACK FOODS CORP	No	0
494117	*J R SIMPLOT COMPANY	Yes	Pricing
			is bases
	JENNIE O TURKEY STORE SALES LLC	Yes	0
	JSB INDUSTRIES INC DBA MUFFIN TOWN DBA JTM PROVISIONS CO INC	Yes No	N/A N/A
	LECHI ENTERPRISES LLC DBA LECHI FOODS	Yes	0%
	*M AND B PRODUCTS INC	Yes,	0%
	MCI FOODS INC	Yes as	
	*MCLANE EXPRESS INC	no	11%
	MICHAEL FOODS *PADRINO FOODS LLC	Yes	0
	PILGRIMS PRIDE CORP	No	N/A
494093	PINNACLE FOODS CORPORATION	No	N/A
494089	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE		0
	RESERS FINE FOODS INC	No	N/A
	*RICH CHICKS, LLC RICH PRODUCTS CORP	Yes No	0
	*SCHWANS FOOD SERVICE	No	N/A
494107	SKY BLUE FOODS LLC DBA SIMPLY BLUES DBA	Yes	0%
	*SOMMA FOOD GROUP LLC	Yes	0
	SUPER BAKERY INC	Yes	N/A
	*TASTY BRANDS LLC THE FATHERS TABLE LLC	Yes YES	0% 2 pallet
	TYSON PREPARED FOODS INC	Tvson	
	WINDSOR QUALITY FOODS COMPANY LTD DBA		net
	WINDSOR FOODS		2.500

3TQ - Taste quality of product unacceptable

1NL - Not low when unit price is calculated 9PS - Failed to provide product sample 4NS - Not to specifications

4BV - Best overall value based on extended pricing

					*Confidential			
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	BAGELS, STRAWBERRY, CREAM CHEESE, MINI, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN,							
1	72/CASE	Y		CS	*GENERAL MILLS	1500		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	*BRAUN BEEF CO INC	1500		
					BRACH BEEL COINC	1000		
				cs	*TASTY BRANDS LLC	1500		
				cs	*MCLANE EXPRESS INC	1500		
	BAJA ROASTED VEGETABLES, BLEND OF							
	ROASTED CORN, CUT CORN, BLACK BEANS, RED AND GREEN PEPPERS, ROASTED ONIONS, AND			~		050		
2	GREEN CHILIES, 6/2#/CS	Y		CS	*MCLANE EXPRESS INC	250		
3	BEEF ENCHILADAS, 51% WHOLE GRAIN BREAD COMPONENT	N	зто	cs	MCI FOODS INC	3000	\$25.90	\$77,700.00
								• • • • • • • • • • • • • • • • • • • •
		Y		cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	3000	\$32.64	\$97,920.00
				cs	*BRAUN BEEF CO INC	3000		
4	(CPT) BEEF FAJITAS, RAW, MARINATED STRIPPED SKIRTS, LOWER SODIUM PREFERRED, 10# CASE	Y		cs	*MCLANE EXPRESS INC	3500		
				cs	*BRAUN BEEF CO INC	3500		
				CS	TYSON PREPARED FOODS	3500	\$149.53	\$523,355.00
	BISCUIT, 51% WHOLE WHITE WHEAT, PAR-BAKED,				BRIDGFORD MARKETING			
5	PRE-SLICED, NO TRANS FAT	N	1NL	CS	COMPANY	1500	\$12.25	\$18,375.00
		N	9PS	CS	*GENERAL MILLS	1500		
		Ν	9PS	CS	*BRAUN BEEF CO INC	1500		

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
					PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE			
		N	зтq	cs	CRAFTERS FOOD COMPANY	1500	\$25.99	\$38,985.00
		Y		CS	CONAGRA FOODS INC	1500	\$26.30	\$39,450.00
				cs	*CHURCHFIELD TRADING COMPANY	1500		
				cs	RICH PRODUCTS CORP	1500	\$36.96	\$55,440.00
				cs	*MCLANE EXPRESS INC	1500		
						1000		
	BLUEBERRIES, IQF, 20# BULK, USAGE DEPENDS							
6	ON USDA ALLOCATION	Y		CS	*J R SIMPLOT COMPANY	2000		
				cs	*MCLANE EXPRESS INC	2000		
				03	MCLANE EXFRESS INC	2000		
				cs	*CHURCHFIELD TRADING COMPANY	2000		
					SKY BLUE FOODS LLC			
	BREAKFAST ROUND MINIS, CINNAMON CHIP, 51% WHOLE GRAIN, INDIVIDUALLY WRAPPED, NUT				DBA SIMPLY BLUES DBA CHINA BLUES DBA SKY			
7	FREE	N	4NS	CS	BLUE BAKERY	1500	\$35.88	\$53,820.00
		Y		CS	*BRAUN BEEF CO INC	1500		
				CS	RICH PRODUCTS CORP	1500	\$44.10	\$66,150.00
				cs	*MCLANE EXPRESS INC	1500		
	BROCCOLI CUT, GRADE A CUTS WITH 35% HEAD							
8	MATERIAL, 20# BULK	N	9PS	CS	*BRAUN BEEF CO INC	2000		

Line#	Item Description	Award (Y / N)	Reason	υом	Supplier	Qty	Price	Extended Price
		(-)						
		Y		cs	*J R SIMPLOT COMPANY	2000		
				cs	*MCLANE EXPRESS INC	2000		
					*J AND J SNACK FOODS			
9	BROWNIE, FUDGE, 51% WHOLE GRAIN, INDIVIDUALLY PACKAGED	N	зто	cs	CORP	400		
					HEART OF TEXAS			
		N	ЗТQ	cs	BISCUITS INC	400	\$25.92	\$10,368.00
					SKY BLUE FOODS LLC			
					DBA SIMPLY BLUES DBA CHINA BLUES DBA SKY			
		N	ЗТQ	cs	BLUE BAKERY	400	\$27.00	\$10,800.00
					BUENA VISTA FOOD			
		Y		cs	PRODUCTS	400	\$33.75	\$13,500.00
				CS	*BRAUN BEEF CO INC	400		
	BREADED CHICKEN PATTY, 51% WHOLE GRAIN BREADING, 3.29 OZ,BREAST AND RIB MEAT ONLY,							
10	150/CS	N	1NL	CS	*FIT FOODZ INC	2000		
					TYSON PREPARED FOODS			
		Y		CS	INC	2000	\$51.81	\$103,620.00
				CS	*ADVANCE FOOD CO INC	2000		
				CS	PILGRIMS PRIDE CORP	2000	\$55.78	\$111,560.00
	CHILI, BOIL IN BAG, GROUND MEAT IN TOMATO BASED SAUCE WITH CHILI SEASONINGS, NO							
11	BEANS, 6 - 5# BAGS/CS	N	3TQ	CS	JTM PROVISIONS CO INC	1500	\$63.21	\$94,815.00
					JENNIE O TURKEY STORE			
		Y		CS	SALES LLC	1500	\$64.40	\$96,600.00

1	New Decembric	Award	D		O and the	014	Deltas	Extended
Line#	Item Description	(Y / N)	Reason	MOO	Supplier	Qty	Price	Price
12	CHEESE CUBES, MILD CHEDDAR, REDUCED FAT, BULK PACKED, 4/5# BAGS/CS, LAND O LAKES #44751 OR EQUAL					250	NB	NB
13	CHICKEN TENDERS, 51% WHOLE GRAIN BREADING, WHOLE MUSCLE PIECES, TYSON #70322-928 OR EQUAL	N	зто	cs	*RICH CHICKS, LLC	1000		
		Y		cs	PILGRIMS PRIDE CORP	1000	\$73.12	\$73,120.00
				cs	*FIT FOODZ INC	1000		
					*SOMMA FOOD GROUP			
				CS	LLC	1000		
				cs	TYSON PREPARED FOODS	1000	\$93.44	\$93,440.00
				03		1000	\$ 53.44	\$93,440.00
14	(CPT) CHICKEN FAJITAS, RAW, MARINATED, LOWER SODIUM, PRE-CUT IN STRIPS, 7/2#	N	4BV	cs	*BRAUN BEEF CO INC	4000		
		Y		cs	*MCLANE EXPRESS INC	4000		
					TYSON PREPARED FOODS			
				cs		4000	\$89.18	\$356,720.00
15	CHICKEN WAFFLE BREAKFAST SANDWICH, 51% WHOLE GRAIN BREADED CHICKEN PATTY, IN BETWEEN TWO 51% WHOLE GRAIN WAFFLES, INDIVIDUALLY WRAPPED, 50/CS	Ŷ		cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$67.39	\$101,085.00
					TYSON PREPARED FOODS			
				cs	INC	1500	\$92.17	\$138,255.00
	ROLL DOUGH, CINNAMON, 51% WHOLE WHITE WHEAT FLOUR, PRE-CUT, 2 OZ, INDIVIDUALLY							
16	QUICK FROZEN	N	3TQ	CS	RICH PRODUCTS CORP	1000	\$23.52	\$23,520.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				~~~	*J AND J SNACK FOODS CORP	4000		
		N	4NS	CS	CORP	1000		
		N	ЗТQ	cs	BRIDGFORD MARKETING COMPANY	1000	\$24.70	\$24,700.00
		Y		cs	*BRAUN BEEF CO INC	1000		
				CS	*MCLANE EXPRESS INC	1000		
17	CINNAMON ROLL, MINIS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 72/CS	N	4NS	cs	SUPER BAKERY INC	1600	\$25.79	\$41,264.00
		Y		CS	*GENERAL MILLS	1600		
				cs	*BRAUN BEEF CO INC	1600		
				cs	*MCLANE EXPRESS INC	1600		
				03	MCLANE EXFRESSINC	1000		
	CINNAMON SWIRLS, 2 PACK, INDIVIDUALLY							
18	WRAPPED, 51% WHOLE GRAIN, 72/CASE	N	4NS	cs	*MCLANE EXPRESS INC	1600		
					SKY BLUE FOODS LLC DBA SIMPLY BLUES DBA			
		Y		cs	CHINA BLUES DBA SKY BLUE BAKERY	1600	\$27.79	\$44,464.00
	COOKIE DOUGH, PUCKS, BUTTER SUGAR, 51%							
19	WHOLE GRAIN, REDUCED FAT, NUT FREE PREFERRED	N	1NL	cs	*J AND J SNACK FOODS CORP	750		
		Y		66	*BRAUN BEEF CO INC	750		
		Ý		US	BRAUN BEEF CO INC	750		
					*ADVANCE SALES &			
				cs	MARKETING INC	750		

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	COOKIE DOUGH, PUCKS, CHOCOLATE CHIP, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE				*J AND J SNACK FOODS			
20	PREFERRED	N	1NL	cs	CORP	2000		
		Y		CS	*BRAUN BEEF CO INC	2000		
				<u> </u>	*ADVANCE SALES & MARKETING INC	2000		
				5	MARKETING INC	2000		
	CORN DOG, SWEET BATTER 51% WHOLE GRAIN,							
	BEEF AND/OR POULTRY, SKELETAL MEAT ONLY,							
21	FAT NOT TO EXCEED 20%, MUST WEIGH 3.2 OZ OR MORE, 72/CS	Y		CS	FOSTER POULTRY FARMS DBA FOSTER FARMS	2000	\$22.50	\$45,000.00
					GOODMAN FOOD PRODUCTS DBA DON LEE			
				cs	FARMS	2000	\$23.04	\$46,080.00
	CORN DOG MINIS, BEEF AND/OR POULTRY, SKELETAL MEAT ONLY, FAT NOT TO EXCEED 20%,							
	51% WHOLE GRAIN SWEET BATTER,				FOSTER POULTRY FARMS			
22	40/SERVINGS/CS	Y		CS	DBA FOSTER FARMS	2000	\$19.70	\$39,400.00
					GOOD SOURCE			
				<u></u>	SOLUTIONS DBA TOOLS FOR SCHOOLS	2000	\$19.75	\$39,500.00
				03	FOR SCHOOLS	2000	\$19.75	\$39,500.00
					*AEM ECK ACQUISITION INC DBA ARMOUR			
				cs	ECKRICH MEATS LLC	2000		
					*SOMMA FOOD GROUP			
				CS	LLC	2000		
				cs	JTM PROVISIONS CO INC	2000	\$69.00	\$138,000.00
						2000	<b>\$55.00</b>	+100,000.00
	CORN, CUT, BULK, GRADE A FANCY, 20#, USAGE							
23	DEPENDS ON USDA ALLOCATION	N	9PS	cs	*BRAUN BEEF CO INC	5000		
		Y		CS	*J R SIMPLOT COMPANY	5000		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	*MCLANE EXPRESS INC	5000		
				CS	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	5000	\$16.53	\$82,650.00
				cs	*CHURCHFIELD TRADING COMPANY	5000		
24	CUPCAKES, VANILLA OR SIMILAR FLAVOR, 51% WHOLE GRAIN, 35% OR LESS OF TOTAL CALORIES FROM FAT, 10% OR LESS OF TOTAL CALORIES FROM SATURATED FAT, NO TRANS FAT, SODIUM LESS THAN 230 MG PER SERVING, TOTAL SUGAR NO MORE THAN 35% BY WEIGHT, NO MORE THAN 200 CALORIES CUPCAKES, CHOCOLATE OR SIMILAR FLAVOR, 51% WHOLE GRAIN, 35% OR LESS OF TOTAL CALORIES FROM FAT, 10% OR LESS OF TOTAL CALORIES FROM SATURATED FAT, NO TRANS FAT, SODIUM LESS THAN 230 MG PER SERVING, TOTAL	Y		CS	SUPER BAKERY INC	350	\$23.32	\$8,162.00
25	MORE THAN 200 CALORIES	Y		CS	SUPER BAKERY INC	350	\$23.32	\$8,162.00
26	DINNER ROLLS, FROZEN DOUGH, 51% WHOLE GRAIN WHITE WHEAT FLOUR, 240/CS	N	зтq	cs	*MCLANE EXPRESS INC	2500		
		N	1NL	cs	BRIDGFORD MARKETING COMPANY	2500	\$17.90	\$44,750.00
		Y		cs	*J AND J SNACK FOODS CORP	2500		
				cs	RICH PRODUCTS CORP	2500	\$20.00	\$50,000.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
					PRAIRIE MILLS BAKING			
				cs	COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	2500	\$27.20	\$68,000.00
				cs	*C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	2500		
				CS	*BRAUN BEEF CO INC	2500		
27	DONUT RING, BULK PACKED, 51% WHOLE GRAIN, 84/CS	Y		cs	*BRAUN BEEF CO INC	400		
				CS	RICH PRODUCTS CORP	400	\$26.88	\$10,752.00
				cs	*MCLANE EXPRESS INC	400		
28	DOUBLE DOGS, MINI PULL APART HOT DOGS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BUNS, 90/CASE, BROOKS STREET BAKERY #60003 OR EQUAL	Y		cs	*BRAUN BEEF CO INC	200		
	DUTCH WAFFLE, BULK PACKED, 51% WHOLE				*J AND J SNACK FOODS			
29	GRAIN, 48/CASE	Y		CS	CORP	800		
				cs	CONAGRA FOODS INC	800	\$21.50	\$17,200.00
	EGG AND CHEESE SWIRL SLIDER, INDIVIDUALLY							
30	WRAPPED, 51% WHOLE GRAIN, 90/CS					1000	NB	NB
31	EGG ROLL, VEGETABLE, 51% WHOLE GRAIN, 130/CASE	N	зто	cs	WINDSOR QUALITY FOODS COMPANY LTD DBA WINDSOR FOODS	600	\$25.99	\$15,594.00
		Y			CHEFS CORNER FOODS	600		\$22,128.00

	New Description	Award	<b>B</b>		0	01-1	<b>D</b> eltas	Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				CS	*BRAUN BEEF CO INC	600		
					*SCHWANS FOOD			
				cs	SERVICE	600		
	FISH, ALASKAN POLLOCK, 51% WHOLE GRAIN NACHO BREADING, SUITABLE FOR BAKING NOT							
32	FRYING	Y		CS	*MCLANE EXPRESS INC	1500		
				cs	*BRAUN BEEF CO INC	1500		
	FLATBREAD, 6X6, FROZEN, PRE-COOKED, 51%							
	WHOLE WHITE WHEAT, GRILL MARKS ON BOTTOM AND BUBBLED BROWNING SPOTS ON TOP,				*ADVANCE SALES &			
33	192/CASE, RICH'S #14010 OR EQUAL	N	9PS	CS	MARKETING INC	1000		
					PRAIRIE MILLS BAKING			
					COMPANY LLC DBA BAKE			
		N	1NL	cs	CRAFTERS FOOD COMPANY	1000	\$20.88	\$20,880.00
				~~			AAA ==	A ===
		N	4NS	CS	THE FATHERS TABLE LLC	1000	\$22.75	\$22,750.00
-		Y		CS	*BRAUN BEEF CO INC	1000		
				cs	RICH PRODUCTS CORP	1000	\$33.25	\$33,250.00
				cs	*MCLANE EXPRESS INC	1000		
	FRENCH TOAST, MINIS, BERRY FLAVOR,							
34	INDIVIDUALLY WRAPPED, 72/CASE	Y		CS	*GENERAL MILLS	1500		
				cs	*BRAUN BEEF CO INC	1500		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	*MCLANE EXPRESS INC	1500		
35	FRENCH TOAST STICKS, BULK PACKED, 51% WHOLE GRAIN, 10# CASE	N	1NL	cs	PINNACLE FOODS CORPORATION	1500	\$13.88	\$20,820.00
					PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD			
		N	1NL	cs	COMPANY	1500	\$15.29	\$22,935.00
		N	1NL	cs	CONAGRA FOODS INC	1500	\$19.25	\$28,875.00
		N	1NL	cs	MICHAEL FOODS	1500	\$27.44	\$41,160.00
		Y		CS	*MCLANE EXPRESS INC	1500		
				cs	*BRAUN BEEF CO INC	1500		
				cs	RICH PRODUCTS CORP	1500	\$30.00	\$45,000.00
36	FROSTED COOKIE, BIRTHDAY WHITE, 51% WHOLE GRAIN, 126/1.5 OZ/CASE	Y		cs	*BRAUN BEEF CO INC	350		
		Y		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	350	\$35.89	\$12,561.50
37	GORDITA, CHIPOTLE CHICKEN, INDIVIDUALLY WRAPPED, 96/CASE					100	NB	NB
	GRILLED CHEESE SANDWICH, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BREAD WITH BEDICED SODIUM AMERICAN AND MOZZABELLA							
38	REDUCED SODIUM AMERICAN AND MOZZARELLA CHEESE, 72/CASE	Y		cs	INTEGRATED FOOD SERVICE	150	\$46.22	\$6,933.00

		Award						Extended
Line#	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
39	HAM AND CHEESE RIPPER, 51% WHOLE GRAIN BREADSTICKS TOPPED WITH SHARP CHEESE SAUCE, MOZZARELLA, CHEDDAR CHEESE, AND TURKEY HAM, 105 SERVINGS/CASE	Y		CS	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	2300	\$75.60	\$173,880.00
40	APPLE JUICE, 4 OZ FROZEN, 100% JUICE, 96/CASE	N	4NS	6	*HARVEST HILL BEVERAGE COMPANY	18500		
40	AFFLE JUICE, 4 02 PROZEN, 100 % JUICE, 30/CASE	N	4113		GREGORY PACKAGING	18500		
		Y		CS	INC DBA SUNCUP	18500	\$6.50	\$120,250.00
				cs	*M AND B PRODUCTS INC	18500		
				cs	*CAL-TEX CITRUS JUICE LLP	18500		
41	ORANGE JUICE, FROZEN, 100% JUICE, 96/CASE	N	4NS	cs	*HARVEST HILL BEVERAGE COMPANY	12000		
41	ORANGE JUICE, PROZEN, 100% JUICE, 90/CASE	Y	4115		GREGORY PACKAGING	12000	\$8.80	\$105,600.00
				CS	*M AND B PRODUCTS INC	12000		
				cs	*CAL-TEX CITRUS JUICE	12000		
42	MACARONI AND CHEESE ENTREE, SIDE OF CARROTS, 51% WHOLE GRAIN, PRE-PACKAGED, INDIVIDUALLY WRAPPED FROZEN, ES FOODS #461853 OR EQUAL	Y		BD	*ES FOODS	250		
	MARGARINE SOLIDS, 30/1 LB, NO TRANS FAT, ALL VEGETABLE	Y			*MCLANE EXPRESS INC	1500		
				cs	*CHURCHFIELD TRADING COMPANY	1500		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
44	MIXED FRUIT TOPPER, BULK PACKED, 96/CS					600	NB	NB
	VEGETABLES, MIXED, GREEN BEANS, LIMA							
45	BEANS, CARROTS, CORN, AND PEAS, GRADE A, 12/2.5#/CASE		0.00	~~~		750		
45	12/2.5#/CASE	N	9PS	63	*BRAUN BEEF CO INC	750		
		Y		<u> </u>	*J R SIMPLOT COMPANY	750		
		ř		63	J R SIMPLOT COMPANY	750		
				<u> </u>		750		
				63	*MCLANE EXPRESS INC	750		
	VEGETABLES, KYOTO BLEND, EDAMAME,							
	BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F., 6/2.5#							
46	BAGS/CS	Y		CS	*J R SIMPLOT COMPANY	1050		
				CS	*MCLANE EXPRESS INC	1050		
	VEGETABLES, TUSCAN BLEND, WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH,							
47	ZUCCHINI, AND RED PEPPER STRIPS, I.Q.F., 8/3# BAGS/CS	Y		<u> </u>	*J R SIMPLOT COMPANY	400		
47		ľ		63	J R SIMPLOT COMPANY	400		
				~~~		400		
				CS	*MCLANE EXPRESS INC	400		
					PRAIRIE MILLS BAKING			
	MUFFIN, BLUEBERRY, INDIVIDUALLY WRAPPED,				COMPANY LLC DBA BAKE CRAFTERS FOOD			
48	51% WHOLE GRAIN, 60/CASE	N	3TQ	CS	COMPANY	1000	\$14.64	\$14,640.00
					JSB INDUSTRIES INC DBA			
		Y			MUFFIN TOWN DBA AESOPS BAGELS	1000	\$15.20	\$15,200.00
					SKY BLUE FOODS LLC			
					DBA SIMPLY BLUES DBA CHINA BLUES DBA SKY			
				CS	BLUE BAKERY	1000	\$15.84	\$15,840.00

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	*ADVANCE SALES & MARKETING INC	1000		
						1000		
				cs	*CHURCHFIELD TRADING COMPANY	1000		
					BUENA VISTA FOOD			
				CS	PRODUCTS	1000	\$43.35	\$43,350.00
	MUFFIN, CINNAMON SPICE CARROT,				SKY BLUE FOODS LLC DBA SIMPLY BLUES DBA			
49	INDIVIDUALLY WRAPPED, 90/3 OZ/CASE, HEART OF TEXAS #145530 OR EQUAL	N	1NL	66	CHINA BLUES DBA SKY BLUE BAKERY	600	\$15.84	\$9,504.00
49	OF TEXAS #143330 OK EQUAL	N	INL	63	BLUE BARENT	000	φ13.04	\$9,304.00
		Y		cs	HEART OF TEXAS BISCUITS INC	600	\$25.20	\$15,120.00
					*ADVANCE SALES &			
				CS	MARKETING INC	600		
	MUFFIN, ORANGE PINEAPPLE, INDIVIDUALLY				JSB INDUSTRIES INC DBA MUFFIN TOWN DBA			
50	WRAPPED, 51% WHOLE GRAIN, 60/CASE	Y		CS	AESOPS BAGELS	1000	\$15.20	\$15,200.00
					SKY BLUE FOODS LLC			
					DBA SIMPLY BLUES DBA CHINA BLUES DBA SKY			
				CS	BLUE BAKERY	1000	\$15.84	\$15,840.00
				<u></u>	BUENA VISTA FOOD PRODUCTS	1000	\$41.25	\$41,250.00
						1000	φ+1.20	φ η 1,230.00
					SKY BLUE FOODS LLC			
					DBA SIMPLY BLUES DBA			
51	MUFFIN, STRAWBERRY, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 48/CASE	N	зто	cs	CHINA BLUES DBA SKY BLUE BAKERY	1000	\$15.84	\$15,840.00
					BUENA VISTA FOOD			
		Y		CS	PRODUCTS	1000	\$41.25	\$41,250.00
	OATMEAL BOWLS, WILD BERRY, 60/8.5 OZ/CS					700	NB	NB

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
53	PANCAKES, BUTTERMILK, BULK PACKED, 51% WHOLE GRAIN WHITE WHEAT FLOUR, 144/1.3 OZ/CS	Ŷ		cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	3400	\$13.28	\$45,152.00
				CS	CONAGRA FOODS INC	3400	\$15.66	\$53,244.00
54	PANCAKES, MINI MAPLE CHIP, 3", BULK PACKED, 81 SERVINGS/CASE	Y		cs	*MCLANE EXPRESS INC	3400		
55	PANCAKE AND SAUSAGE BREAKFAST BITES, MINI SAUSAGE LINKS WRAPPED IN 51% WHOLE GRAIN PANCAKE, 10#/CS	N	4NS	6	*BRAUN BEEF CO INC	1200		
- 35		Y	-+1V3		FOSTER POULTRY FARMS	1200	\$23.90	\$28,680.00
							<u> </u>	¥20,000,00
56	PANCAKE AND TURKEY SAUSAGE BREAKFAST STICKS, INDIVIDUALLY WRAPPED IN PERFORATED, OVENABLE WRAP, 51% WHOLE GRAIN, 40/CS	Ŷ		CS	FOSTER POULTRY FARMS DBA FOSTER FARMS	1500	\$19.70	\$29,550.00
57	PANCAKE MINIS, MAPLE FLAVOR, 51% WHOLE GRAIN, SINGLE SERVE, OVENABLE POUCH, 72/CASE	Y		CS	DE WAFELBAKKERS LLC	1500	\$23.96	\$35,940.00
51					*ES FOODS	1500	φ23.30	\$33,340.00
				CS	*GENERAL MILLS	1500		
					*BRAUN BEEF CO INC GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1500	\$26.71	\$40,065.00
					PINNACLE FOODS CORPORATION	<u>1500</u> 1500		\$40,065.00 \$41,970.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		(1,1,1)						
	PANCAKE MINIS, STRAWBERRY, 51% WHOLE GRAIN, SINGLE SERVE, OVENABLE POUCH,							
58	72/CASE	N	4NS	CS	DE WAFELBAKKERS LLC	1500	\$23.96	\$35,940.00
		Y		cs	*GENERAL MILLS	1500		
				cs	*BRAUN BEEF CO INC	1500		
				cs	*MCLANE EXPRESS INC	1500		
					GOOD SOURCE SOLUTIONS DBA TOOLS			
				CS	FOR SCHOOLS	1500	\$26.71	\$40,065.00
	PANCAKE SAUSAGE SANDWICH, INDIVIDUALLY				PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE			
59	WRAPPED, SAUSAGE FROM POULTRY OR BEEF, NO PORK, 51% WHOLE GRAIN, 168/CASE	Y		CS	CRAFTERS FOOD COMPANY	1100	\$74.71	\$82,181.00
60	PEACH FRUIT TOPPER, BULK PACKED, 96 SERVINGS/CS					600	NB	NB
	PIZZA CHEESE CRUNCHERS, 51% WHOLE GRAIN							
61	BREADING WITH 100% MOZZARELLA CHEESE AND PIZZA SAUCE INSIDE, 8/3.125 LB BAGS/CS	Y		cs	*BRAUN BEEF CO INC	3000		
				cs	RICH PRODUCTS CORP	3000	\$56.50	\$169,500.00
				cs	*MCLANE EXPRESS INC	3000		
62	PRETZEL ROLL, PRE-SLICED, 51% WHOLE GRAIN, LOW SODIUM, 120/CASE	Y		cs	*J AND J SNACK FOODS CORP	350		
63	PUDDING CUPS, CHOCOLATE BROWNIE FLAVOR OR SIMILAR, FIRST INGREDIENT SKIM MILK	Y		CS	*BRAUN BEEF CO INC	100		

parea and concurs with the recommendation.

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
Ente#		(1714)	Readen	00111	ouppiloi	4.9	11100	11100
				CS	RICH PRODUCTS CORP	100	\$21.00	\$2,100.00
				cs	*MCLANE EXPRESS INC	100		
	PUDDING CUPS, BIRTHDAY CAKE VANILLA							
64	FLAVOR OR SIMILAR, FIRST INGREDIENT SKIM MILK	v		~~		100		
64		Y		CS	*BRAUN BEEF CO INC	100		
				cs	RICH PRODUCTS CORP	100	\$21.00	\$2,100.00
				~~		400		
			ł – –	CS	*MCLANE EXPRESS INC	100		
	ROLL, GLUTEN FREE, 51% WHOLE GRAIN, DINNER							
65	ROLL, BREADSTICK OR SIMILAR					50	NB	NB
66	SANDWICH, HAM & CHEESE, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BREAD, 72/CASE					100	NB	NB
	SAUSAGE BISCUIT SANDWICH, INDIVIDUALLY							
67	WRAPPED, POULTRY SAUSAGE, 51% WHOLE GRAIN, 60/2.6 OZ/CS	Y		cs	HEART OF TEXAS BISCUITS INC	2250	\$22.20	\$49,950.00
					TYSON PREPARED FOODS			
				CS	INC	2250	\$71.25	\$160,312.50
					PRAIRIE MILLS BAKING			
					COMPANY LLC DBA BAKE CRAFTERS FOOD			
				cs	COMPANY	2250	\$75.30	\$169,425.00
68	CHICKEN SAUSAGE SWIRL SLIDER, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BUN, 90/CS					1500	NB	NB
	,							_

		A						Estanda I
Line#	Item Description	Award (Y / N)	Reason	υом	Supplier	Qty	Price	Extended Price
	SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND							
69	BAKED, LOW SODIUM, 2.5 OZ, DOUBLE B #4086 OR EQUAL	N	4NS	cs	LECHI ENTERPRISES LLC DBA LECHI FOODS	1500	\$22.50	\$33,750.00
		N	1NL	CS	*AEM ECK ACQUISITION INC DBA ARMOUR ECKRICH MEATS LLC	1500		
		Y		CS	DOUBLE B FOODS	1500	\$47.60	\$71,400.00
				CS	*MCLANE EXPRESS INC	1500		
70	SAUSAGE ROLL, BREAKFAST, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, 2 OZ, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, DOUBLE B #4089 OR EQUAL, 136/CASE	Ν	4NS	cs	LECHI ENTERPRISES LLC DBA LECHI FOODS	2250	\$24.50	\$55,125.00
		Y		cs	DOUBLE B FOODS	2250	\$52.13	\$117,292.50
				cs	*MCLANE EXPRESS INC	2250		
71	SCONE DOUGH PUCK, PEACH PASSION, 51% WHOLE GRAIN, 96/CS					700	NB	NB
	SCONE DOUGH PUCK, STRAWBERRY, 51% WHOLE					_		
72	GRAIN, 96/CS					700	NB	NB
73	SLIDER BUN, PRE-SLICED, 51% WHOLE GRAIN, 168/CASE	Y		cs	*MCLANE EXPRESS INC	3000		
					PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	3000	\$29.42	\$88,260.00

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	SUPER BAKERY INC	3000	\$42.29	\$126,870.00
				00	OUT EN BARENT INO	3000	ψ 1 2.25	\$120,070.00
	STRAWBERRIES, NO SUGAR ADDED, SLICED, FROZEN, GRADE A, FANCY, USUAGE DEPENDS ON							
74	USDA ALLOCATION, 6/6.5#/CS	Y		cs	*J R SIMPLOT COMPANY	7000		
	SUNBUTTER & GRAPE JELLY SANDWICH, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN							
75	WITH CRUSTS REMOVED, 96/CASE	N	4NS	CS	*BRAUN BEEF CO INC	500		
					JSB INDUSTRIES INC DBA			
		Y		CS	MUFFIN TOWN DBA AESOPS BAGELS	500	\$58.00	\$29,000.00
				CS	*ADVANCE FOOD CO INC	500		
					GOOD SOURCE			
76	SWEET CREAM FILLED BREAKFAST BITES, 51% WHOLE GRAIN, 80 SERVINGS/CASE	Y		cs	SOLUTIONS DBA TOOLS FOR SCHOOLS	900	\$37.24	\$33,516.00
	TAMALE, GREEN CHILE CHICKEN, IN HUSK, 51%				DEL REAL LLC DBA DEL			
77	WHOLE GRAIN	N	1NL	cs	REAL FOODS	1500	\$38.86	\$58,290.00
		Y		CS	*PADRINO FOODS LLC	1500		
78	TERIYAKI CHICKEN AND BROWN RICE, INDIVIDUAL TRAYS, 10.5 OZ EACH, ES FOODS OR EQUAL	Y		cs	*ES FOODS	250		
	TORNADOS BREAKFAST WRAP, EGG, TURKEY SAUSAGE AND CHEESE, BULK PACKED WITH							
79	PAPER SLEEVES INCLUDED IN CASE, 51% WHOLE GRAIN TORTILLA, 24/CASE					200	NB	NB
	(CPT) TORTILLAS, FLOUR, PRESSED, 10", 51% WHOLE WHITE WHEAT FLOUR, NO MORE THAN							
80	175 MG SODIUM PER TORTILLA, 8/24 CT	N	3TQ	cs	RESERS FINE FOODS INC	2000	\$16.36	\$32,720.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		Y		cs	TYSON PREPARED FOODS	2000	\$20.00	\$40,000.00
						2000		
	TORTILLAS, FLOUR, 6 INCH, 51% WHOLE GRAIN WHITE WHEAT FLOUR, NO MORE THAN 90 MG SODIUM PER TORTILLA, HEAT PRESSED ONLY,			CS	*BRAUN BEEF CO INC	2000		
81	SODIUM PER TORTILLA, HEAT PRESSED ONLY, 30/12 CT	N	ЗТQ	CS	RESERS FINE FOODS INC	1000	\$18.90	\$18,900.00
		Y		cs	TYSON PREPARED FOODS	1000	\$23.85	\$23,850.00
						1000		
				CS	*BRAUN BEEF CO INC	1000		
82	TRIPLE CHOCOLATE FILLED COOKIE, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 120/CASE					1000	NB	NB
83	TURKEY HAM, EGG, AND CHEESE BREAKFAST WRAP, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 100/CASE, INTEGRATED #380021 OR EQUAL	N		cs	TYSON PREPARED FOODS	1500	\$29.40	\$44,100.00
63		N		63		1500	\$29.40	\$44,100.00
		Y		cs	INTEGRATED FOOD SERVICE	1500	\$52.10	\$78,150.00
84	TURKEY HAM, EGG, AND CHEESE BREAKFAST SANDWICH, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 140/CASE	Y		cs	INTEGRATED FOOD SERVICE	1500	\$89.12	\$133,680.00
85	WAFFLE MINIS, MAPLE FLAVOR OR SIMILAR, SINGLE SERVE, 51% WHOLE GRAIN, OVENABLE POUCH	Y		cs	*GENERAL MILLS	1000		
				cs	*BRAUN BEEF CO INC	1000		

Т

 Т

Т

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	*MCLANE EXPRESS INC	1000		
86	WAFFLE STICKS, BULK, 51% WHOLE GRAIN	Y		cs	CONAGRA FOODS INC	2500	\$24.43	\$61,075.00
	WHIPPED TOPPING, PRE-WHIPPED NON-DAIRY TOPPING, PACKED IN 16 OZ PASTRY BAG WITH							
87	TIP, EASY OPEN AND SEAL, 12/CS, RICH'S #02559 OR SIMILAR	Y		cs	*BRAUN BEEF CO INC	250		
				cs	RICH PRODUCTS CORP	250	\$30.50	\$7,625.00
				CS	*MCLANE EXPRESS INC	250		
	LASAGNA NOODLES WITH MEAT AND CHEESE							
88	SAUCE, 51% WHOLE GRAIN, INDIVIDUAL TRAYS, 10.5 OZ EACH	Y		cs	*ES FOODS	250		
89	SPAGHETTI WITH MEAT SAUCE, 51% WHOLE GRAIN, INDIVIDUAL TRAYS, 10.5 OZ EACH	Y		cs	*ES FOODS	250		
	ZESTY BEANS AND CHEESE ENTREE, PACKED IN							
90	OVENABLE SINGLE SERVING TRAY, 48/CASE	Y		CS	*ES FOODS	200		
	BISCUIT, BUTTERMILK, PAR-BAKED, PRE-SLICED,							
91	NO TRANS FAT	Y		CS	*ADVANCE FOOD CO INC	1500		
				CS	BRIDGFORD MARKETING COMPANY	1500	\$12.25	\$18,375.00
						1000	Ψ12.27	\$10,075.00
92	BISCUIT, BUTTERMILK, PAR-BAKED, PRE-SLICED, NO TRANS FAT	Y		cs	BRIDGFORD MARKETING COMPANY	1500	\$19.65	\$29,475.00
	SAUSAGE AND BUTTERMILK BISCUIT SANDWICH,							
93	INDIVIDUALLY WRAPPED, POULTRY SAUSAGE, 60/2.6 OZ/CASE	Y		cs	HEART OF TEXAS BISCUITS INC	2250	\$22.20	\$49,950.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
94	(CPT) TORTILLAS, FLOUR, 10", HEAT PRESSED, NO MORE THAN 240 MG SODIUM PER TORTILLA, 8/24 CT/CS					2000	NB	NB
95	TORTILLAS, FLOUR, 6 INCH, HEAT PRESSED, NO MORE THAN 90 MG SODIUM PER TORTILLA, 30/12 CT					1000	NB	NB
96	MACARONI & CHEESE, REDUCED FAT, REDUCED SODIUM, READY TO SERVE, SEMOLINA NOODLES, 6/5# BAGS/CASE	No Award		cs	JTM PROVISIONS CO INC	3500	\$43.58	\$152,530.00
		No Award		cs	*ES FOODS	3500		